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Geography
Paper II

I

gyatrent 11

Time Allowed : 120 Minutes]
Note : This paper contains Hundred (100) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.

AT : A YIAUCThd THU PO (100) SETAE A el oTRd. Uoieh WAl & (2)

U Sed. €@ YA e

[Maximum Marks : 200

1.

Which of the following factors affect

the movement of ocean currents ?

(1)

(2)

3)

(4)

(A)

(B)

(&)

(D)

Atmospheric pressure

Winds

Salinity

Seasonal variations in

temperature

(1), (2) and (3)

(1), (2) and (4)

(2), (3) and (4)

(1), (2), (3) and (4)

1. Wkl VA 2 IR FaTEeR

gRuM hidd ?

(1) e e

(2) =R

(3) &l

(4) TAIEEGA SH a8a

(A) (1), (2) @for (3)

(B) (1), (2) awfor (4)

(C) (2), (3) 3T (4)

D) (1), (2), (3) =0T (4)

[P.T.O.



Which of the following waves is
formed due to disturbance at

Pycnocline ?
(A) Swell
(B) Seiche wave

(C) Internal wave
(D) Capillary wave

.............. does not experience any

change in tidal level.

(A) Average tide level

(B) Co-range line

(C) Amphidromic point

(D) Co-tide line

The wavelength of Tsunami is in the
range of :

(A) A few kilometers up to a few

hundreds of kilometers
(B) A few meters up to a kilometer

(C) A few 10 meters up to a 100

meters

(D) One meter to ten meters

MAR - 36223/11—B
‘TrEEETETER | fasivme wretad®

I Tl TIR Blad ?
(A) @&a a4
(B) &=
(C) M-t

(D) HIMT T

""""""""" JY AT 3T UIdesid siedd

(B) 9g-well 1o
(C) eifmegifae fog
(D) Te- Wl SfRer Yo

CGATHT=AT qUTeATsi= e .

(A) &TEl fHAIHTEY d HTEl JFHel

TR

(B) &l HX 7 TH TR

(C) =T&l T | 7 100 TR

(D) TH HX d T& HX




Match List-I with List-II and select
the correct option from the codes

given below :
List I
(1) Humboldt current
(2) Canaries current
(3) Kuroshio current
(4) Gulf stream
List II
(a) Eastern coast of Japan
(b) Western coast of Africa
(¢) Western coast of South America
(d) North Atlantic Ocean
Codes :
o @ B @
A @ b)) @ (@)
B) @ b)) (@ ()
€ d @ b)) (@

D) b)) @ (© (@
Which one of the following constant

value is used to calculate salinity ?
(A) 18.0655

(B) 1.80655

(C) 18.655

(D) 180.665

MAR - 36223/I11—B

ARI-1 3 ARI-1T A= Sie Yoo @il
HehaeiE 9y e Haer

arer 1
(1) Tdlee gare
(2) ®HTH Ya1E
(3) U yamE
(4) TTH YA

arer 11

(@) Ol g8 foRaRued

N

o o

ey ferued]

(b) MRl T

e N oA o o}

(c) Tferor smftshs afved frTRd]

(d) I FFedlfesh IR
Hehdich :

o @ B @
A) © b)) (@ @
B) @ b)) () (@
C) @ @ b (@

D) ®) @ (@ (@

ETeterdehl Il feer Hean efRan
FIRUATHS] el Sd 2

(A) 18.0655

(B) 1.80655

(C) 18.655

(D) 180.665

[P.T.O.



On the basis of depths arrange the
deep sea trenches in descending

order :

(1) Tonga trench

(2) Aleutian trench

(3) Peru Chile trench

(4) Japan trench

(A) 1-3-4-2

B) 2-3-1-4

C) 4-2-3-1

D) 1-4-3-2

Which one of the following benthic

provinces is not having depth less
than 2000 meters ?

(A) Hadal

(B) Sublittoral
(C) Bathyal
(D) Abyssal

The most abundant salt present in

the sea water is ...............
(A) Magnesium chloride
(B) Sodium sulphate

(C) Calcium carbonate

(D) Sodium chloride

MAR - 36223/1I—B

e AR TTaiea Ve THR 3aical s
GICTINC TS

(1) Zrm T

(2) SRR Tl

(3) & foclt wal

(4) U= A

(A) 1-3-4-2

B) 2-3-1-4

C) 4-2-3-1

D) 1-4-3-2

Teleteh! ShIvTe faeee JeeT= Siel
2000 HieHueT HHl el ?

(A) 7S

(B) 9'R 3U-dd
(C) TR
(D) foae™

Hﬂg\lw| l-||U¢||c| ................. %WW
AEATR &R 7.

(A) HHREE 9ehe
(B) Hifsam 9ehe

(C) HfwrEm FEHe

(D) Hifes™ FNES




10.

11.

12.

Ocean basin is a vast area of the
ocean floor that lies deeper than .......

meters.

(A) 500

(B) 800

(C) 1000

(D) 2000

Eutrophication is ..............

(A) an improved water quality

status of lakes

(B) the result of accumulation of

plant nutrients in water bodies
(C) a water treatment technique
(D) a process in the gas cycle

Which one of the following is not

correctly matched ?

(A) South Africa —  Velds

(B) Australia —  Downs
(C) Argentina -  Pampas
(D) Brazil —  Steppes

11.

12.
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e 3T Wiell STEeTed
ool AFRICYT TUN™ 9 @R 3.

(A) 500
(B) 800
(C) 1000

(D) 2000

Fhehe BT
(A) Tt Sta-T[orard=i gema feerd
(B) IOAd UrSeRteAl HedATen QR

(C) a1 Tafean o

(D) oMY <ehldicl gfshan

[aV N Y ha [aV N0 N b aY
llAtlcdqenl enlUldl Slsl 4lid ool

ATE ?

(A) <faur aAftpeR — Rees
(B) stifern  — TR
(C) sTSifer — U™

(D) s L

[P.T.O.



13.

14.

Assertion (A) : In the Arctic
ecosystem, if lichen production were
either impaired or destroyed, the

whole system would collapse.

Reason (R) : The herbivorous and
carnivorous directly depend upon

lichens.
Which one of the following is correct ?

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true and
(R) is not the correct explanation

of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Autecology stands for :

(A) Study of relationship of

individual species to its

environment

(B) Study of complex interrelation-

ships of group of organisms
©)
(D)

Study of floral diversity

Study of fauna diversity

13.

14.
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faam (A) : enfes ofEeda amEA
IeqEA S Y fohen T2 et S W
i e wEE e,

&RUT (R) : quiaell 9 AMvsl s

A TeR ST STHAm.
GeATeAueh! Ho SaR T8 ?

(A) 3= (A) 9 (R) 319% 39T (R)
(A) 9 I TR T

(B) 31 (A) 9 (R) 375 31ed T (R)
T (A) 9 I TSRO e

(C) (A) /% R WY (R) ® I R
(D) (A) 5% 38 W (R) € =F MR
FHlThleAST U

(A) IAfeTR = = qaiaTemeit

(B) Sfla wHgreal Sifed ATaigse=n

SIEIN

(a) el a N

(C) Il TdaYd=n 3¥mH

(D) wrfor fafaed=n s1eam




15.

16.

17.

Who introduced the
approach to the study of vegetation

genetic

community ?
(A) C. Elton
(B) F.E. Clement
(C) J. Grinel
(D) Tansley

According to
Environment, Forest and Climate
Change (March, 2018 report) out of
253 rivers in India ............... were

Ministry  of

critically polluted.

(A) 78

(B) 38

(C) 67

(D) 53

Assertion (A) : Only 10 percent of
the energy is transferred to each
trophic level from the lower trophic
level.

Reason (R) : The energy flow takes
place in both directions in food chain.

Which one of the following is
correct ?

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

Both (A) and (R) are true but
(R) is not the correct explanation
of (A)

(A) is true but (R) is false

(A) is false but (R) is true

(B)

(C)
(D)

15.

16.

17.

MAR - 36223/I11—B
ST HHSTATAT AATHHS STehl
gftcsh@ Jorg vt Argan 2
(A) HI. et
(B) Th. 3. I
(C) 3. IHa
(D) TAEA
TG0, I ST TATHM Seal HATaTar=l

A, 2018 =1 STEATATHR TRATA TH
253 :Ia-i-aqﬁ .................. @T Ti‘ f

EAERREIEER I
(A) 78
(B) 38
(C) 67
(D) 53

faam™ (A) : w1 10 TFh Sel T

qo0 grdedishe =1 OIS0T Uidesieh e

TR 3.

HIOT (R) : 3T TS STl YaTe Sl

feemmeEd g

TeATcush! HIv SR T 2

(A) T=T (A) T (R) 39F 3 (R) ©
(A) 9 Irg TIEH ST

(B) <l (A) @ (R) 319 3Ted Tg (R)
B (A) T ITgH TR AR

(C) (A) 19 38 WJ (R) § I% 3T
(D) (A) I 3% W (R) ¥ H e

[P.T.O.



18. Match the List-I and List-II and

select the correct answer from the

codes given below :

(@)
)
(c)
(d)

(1

(2)

3)

(4)

List I
Abyssopelagic
Bathypelagic
Benthos
Uphotic zone

List II

Upper zone of sea or lake where

enough light can penetrate

Organisms living on or at the

bottom of a water body

Organisms living at water depths
between 1000 m to 3000 m

Organisms at water depths
more than 3000 m

Codes :

(@ ©® © @
Aa @ 6 @O @
B 2 O @ @
© @ & @ @
O @ @ QO @

MAR - 36223/1I—B

18. IR & ARH-I1 =0 Sieal Sesad @reira
Hehdlehlqd arvg e e .

(@)
®)
(c)
d)

(1)

(2)
(3)

(4)

It 1
SIS GIISED
EIRESISED
Rl
THIEF A

Iret 11

a5 fopal qaEm=n S=1 9T Sig

RET JRET 3T oA & ekl
quar=al qorell TRV Sfd

1000 . d 3000 HI. M @A
oA TEIOR. S{a

3000 Hi. Te S WA 9o
RO e

Hehdich :

(@ ) © @
A @ 6 @O @
B @ O B @
<€ @ 3 @ @
M & @ @O @

10



19. Match the List-I and List-II and

select the correct answer from the

codes given below :

(a)
(b)
(c)
(d)

(1)

(2)

List I
Montreal Protocol
Bonn Convention
Basel Convention
Rotterdam Convention

List 1I

Reduces the movements of

hazardous waste between nations

Trade in certain hazardous

chemicals and pesticides

(3) Ozone Depleting Substances

(4) The consevation of migratory
species

Codes :
@ ® © @

A 2 3 @ @

B B @ @ @

<© & @ @ @

D 2 3 @O @

MAR - 36223/I11—B

19. IRI-I 9 A1 A=A SIS Sesad Tete
Hehdlehlqd arvg e e .

(@)
b)
(c)

RIC{ |

qHfCIA Uil

EIGIG TS

ITA FIR

(d) TEH W

(1)

et 11

qseHeTe e <TehTeg qerertsl

o) N
cleldlel onHl oYl

(2) hTEI Hdeh THTE o hIehARIR
2R

(3) M= & HIR e

(4) TIAIRG U= HaEA

Hehdich :
(@ ®) @ @)

Aa @2 B @ @

B B @ @ @

e 3 @2 @ @

D 2 B @1 @

11

[P.T.O.



20.

21.

22.

Which report from the World
Commission on Environment and
Development is credited with coining
the term sustainable development ?

(A) The Brundtland Report

(B) The United Nations Report on
Environment

The report on the World’s
Environment and Development

(&)

The Environmental Justice
Report of 1987

A major limitation to census as a

(D)

source of population data is

(A) Frequent
demographic parameters

changes
(B) Frequent changes in census
enumerators

(C) Frequent boundary modification
both within the country and at
international scale

(D) Frequent changes in national
governments conducting census

enumeration

A significant improvement in health,
sanitation and general awareness of
disease in the mid 20th Century
reduced :

(A) Fertility

(B) Only mortality
(®);
(D)

Only infant mortality
Mortality and infant mortality
rate

20.

21.

22.
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SrTfdeh gAfeRer & faerd srEmmeA

Ul Hedldld RMRdAd CEqES _‘éﬁ %i;il

TEIR Shedrd 99 S 2

(A) ge2oie Teamd
(B) Tl TCCHEMET TAERTT 3T8aTe
(C) wIrfaess wafarol 9 fasm oTgare

(D) THEROME ™ 2TedTd, 1987

dHAEAT TRerE Arfedrald T

¥ 3.

(A) STTHEAR T YA A B0
EHY|

ha A (o
STV q&A TateT &

(B) SUAAIA UM Hiaea™ BIvR
EHy|

(C) <IM@Ia 30T AW UTdesia

HHre gracm EINNEE MY

(D) 3 TEAT SRTUAT T[T Tt
BRI

20 Ikl AT TR, Ta=a3dl

ot LHTdqqel HIHIAHA STTESR A

AL GURON Fedt
(A) STT&THT
(B) wad A
(C) e 31 Tl
(D) wdar omfor s1efes Heddr &

12



23.

24.

Which of the following statements

is not true about urbanization ?

(A) Globally, more population lives
in cities and towns than in

villages presently

(B) Rate of urbanization is faster in
less developed countries than
the more developed countries of

the world

(C) In India, majority of the urban

population resides in Class-I
cities
(D) India is the first country in the

world to develop smart cities

Settlements that occur near rivers,
coasts and railway lines are more

likely to be :

(A) Linear settlements
(B) Zonal settlements
(C) Economic settlements

(D) Climatic settlements

23.

24.

MAR - 36223/I11—B

NRIETUIEIERIRCININEEIRC AL G ECIR]

R A ?

(A) SR, AT TET9en I8l AT

TRHES Afeeh AhEEa T

(B) ST foerfaa emien st foerfaa

TIMHE AR € S 3R

(C) YRAWE Sgaed el Alhae

-1 IEAa TRd

(D) e gt faswfad HOmM 9ra =1

ST afgel <91 Se

T, frRuedt onftr IcomTT=a Side
AT THIEA STEAhE ST 37

Mehdld e

(A) Yot e

(B) &9 o4redt

(C) enféer st
(D) BEMHME @

13

[P.T.O.



MAR - 36223/1I—B

25. Match List-I with List-II and select | 95 -1 snfor IE-11I Awelte Sire oo

the correct answer from the codes

given below :
List I
(Concept)
(@) Gentrification
(b) Urban blight
(¢) Urban hierarchy
(d) Urban sprawl
List II
(Characteristics)

(1) Vertical classification of towns

and cities

the

character of inner city

(2) Upscaling in social

(3) Degradation in the physical

condition of urban areas

(4) Physical expansion of urban

city beyond the core
Codes :

(@ &) @ (@
A 2 3 1 @
B @ @©O B @
e @O & @2 @
D @ @O G (@)

sTfor feoiean Wehdishlqd oT9eh 9
IREEIE

et 1
(Hehea)
(@) SiEIfRHTH
(b) TG e
(c) vl it
(d) Tl T
It 11
(TuTafiTeE)

(1) TTRR ST 318 AT ST i

(2) STl YA WA [OTEH
e

(3) W WM ifae aRfEerdia =
(4) TR IEAMIER i fowdr
Hehdich :
(@ @) @ @)
Aa @ 6 @O @
B 2 @O 6 @
e O 6 @ @
M @ @O @ @

14
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926. A rise in the median age of a | 26. TNHUCISA WA 9@ ¢ e fagd ad :
population shows : (A) SIS HeHH
(A) Demographic transition B) . N -
(B) Demographic Ageing )
(C) Demographic instability (C) TR ST
(D) Demographic momentum (D) SHEEAHE T
27. Which of the following relates | 27. WIciiciish! ShIVIdT S<eh e T SIHT=N
fertility to female birth only ? SR TEfid e ?
(A) Net Reproduction Rate (A) e g X
(B) Gross Reproduction Rate (B) THI YSHAT X
(C) Standardized Fertility Rate (C) wwiford S TR
(D) Cohort Fertility Rate (D) FHEIE ST X
28. Assertion (A) : Developed countries | 28. & (A) : foerf¥d <o HHl S
are characterized by low fertility Sfrssfiga srEar
rates.
Reason (R) : Developed countries T (R) : Tt <91 A Sl
are experiencing significant ageing THEA aHe S9ed 3.
in their population HaaiE
Codes :
(A) Both (A) and (R) are correct and (A) (A) 3TfoT (R) ST SRISR 31 SAIfoT
(R) is the correct explanation (R) B (A) ¥ Iy fagaoon a1
of (A) )
(B) Both (A) and (R) are correct but (B) (&) ST (R) STl w1 S g
(R) is not the correct explanation (R) & (A) ¥ S [RASERENIG]
of &) (C) (A) TR I WY (R) & ¥ o
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true D) (A) TF TG (R) R T
15 [P.T.O.



29.

30.

In settlement patterns, dwellings
that are located in larger area
without any particular pattern are

classified as :

(A) Sub-urban settlement pattern
(B) Dispersed settlement pattern
(C) Fringe settlement pattern
(D) Central business district

Which of the following is an incorrect
statement about the central place

theory ?

(A) Threshold is the minimum
population that is required to
bring about the provision of

certain goods or services

(B) Range of goods/services is the
average maximum distance
that people travel to purchase

goods/services

(C) The theory assumes that

population is unevenly

distributed in the area

(D) Simple basic services are of low
order while specialized services

are of high order

29.

30.
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A o~

JTEd  STHqaaTged, HIvAEl faf

[

S fqaureataieaa Algar & feerd
ST = qfehi0l 3T hel S :

(A) W I9Rd STFHfaee
(B) fafeyor g9mea iy
(C) SeR JHRd SThiqa

(D) hfsa =ge@mg &+

el TaGTae Eelieies! o

gehia fagm o ?

(A) 2T & HHG HH AR 2T
St fafire axq fohan dam=t WS
STUTUATETS! A9 3TEd

(B) W1 feran Ham=l 9ol WIS STkl

AT Toha Tal WS HLUATES! T

ST JaTd 3TaY 3794

(C) Tag@ =/ TElA Xl i IR
AREEAT STHHFI fadqia shefl S

(D) Hrea Jayd qa1 F=sRdE Sdrd
o fafdse Soten Aa S=EHHE

SAHdATd

16
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31. Which of the following terms is not | 31. ®ITelaldsh] HITEI FIJT S IT=AT
applicable to Weber’s theory of siteifiTen TefentehTom=a1 fagaTe @m]
Industrial location ? Ted el ?

(A) Industrial agglomeration (A) 3TeifiTeh TR
(B) Range of the goods (B) WA= hedl

(C) Critical Isodapane (C) fofewra AEEISTH
(D) Least cost principle (D) FdH oI T

32. Match the List-I and List-II and | g9 FELT 9 FEI-IT T= St S T
select the correct answer from the T A T e
codes given b.elow : s
— .LIStI @

@) Fulani
(b) Masais @) ¥
() Nuba © =
(d) Bantu (@) =,
List II Rk

(1) East Africa @) o Sp
(2) West Africa (2) TR ST
(3) Southern Africa (3) =feror ST
(4) Ethiopia and Sudan (4) sfernfaan smfor gem
Codes : Hehdieh :

(@ B (@ (@@ (@ b)) (@© ()
A 2 @ @O O A 2 @ @O O
B @ 1 @ O B @ 1 @ O
© @O B8 @2 @ e o 6 @ @
D) @ @ @O B D 4 @ @O @

17 [P.T.O.



33.

34.

Which of the following is the most
important ocean route on the basis

of international trade ?

(A) Atlantic ocean, Mediterranean
Sea, Indian Ocean via Suez

canal

(B)

Atlantic ocean, Indian ocean
Via Cape of Good Hope

(C) North Atlantic ocean route
between Europe and North

America

(D) of North

America-Europe route via

Western coast

Panama canal

Which of the following statements
1s not correct about the commercial

grain farming ?

(A) In extensive commercial grain

farming farms are very large

(B)

In this farming wheat is the

most important crop

(C) of

agriculture and dominant role

Traditional method
of hand labour characterise this

type of farming
(D)

Complexes of farm buildings

are located on farms

33.

34.

MAR - 36223/1I—B

+ fal [ NN
STTARTS ATARTAT HATERISY Eedleiyeh]

VAT Faid He<ar=l 9 AE T ?

(A) 3Teclfcsh HRMETR, YHET 993, YUa

Y S

chlcTedHIT Teal

HelHITY

(B) STecllfich WEIR, &Y ATk TS
Brort fédt AeEmR

(C) JU9 3T IR STHRHSTATET SR
feelifeh R A

(D) S SR qfv=d R
FHITATR JAT AR

GeAlAdeht HIvG faum™ =i o=
YT Jredid AT AT ?

(A) forga =l a1 YdHed Qaren
R U HiGl Tl

(B) 1 TAHEA g § HEved Uieh 3TEd

(C) It HTOIET WO ggd 3o

SRR @ a9 B A1 St
Sfyrsesr SR
(D) viqr@ay @ vd  gHIRE!

TG/ 3HEdTd
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35.

36.

37.

Which one of the following is a
procedural technique for regional
planning ?

(A) Industrial location analysis
(B) Economic base analysis

(C) Regional multiplier analysis
(D) Threshold analysis

Who was the pioneer in using
the
delimitation of agricultural regions ?

(A) Whittlesey
(B) Baker

(C) Von Thunen
(D) Doi

Assertion (A) : Losch’s model is less

empirical technique for

restrictive than Christaller’s model.

Reason (R) : Losch treated each
function as having a separate range,
threshold and hexagonal hinterland.

Which of the following is correct ?
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

Both (A) and (R) are true but
(R) is not the correct explanation

of (A)
(A) is true but (R) is false
(A) is false but (R) is true

(B)

(&)
(D)

36.

37.

MAR - 36223/I11—B

o [N

PIMNCIRERISEIE CIRCI I Ea MR
EIERIRE i

(A) sTeefier T fawerso

(B) oféer e fergeromm

(C) wefers oM faerson

(D) AL fergets

FE TR IR RISt SN
TAT AR FAILH FIVT hell ?

(A) fegeetdt

(B) st

(C) a g1

(D) <&

faam (A) : 9™ gfame § feaer=n
yfqamaen & gfdeurds R,

HIUT (R) : AT AT Yok Shiaiy Toas]
HET, ST A0 TTHIAT TGS
SHTYH BTdTes.

i

(A) T8 (A) 9 (R) 315k 37H (R)
(A) T ITT TR B

(B) T=T(A) F (R) 379 3Ted g (R)
T (A) T ITEH TRIH AR

(C) (A) o9 38 WJ (R) § I% 3T
(D) (A)WWW(R)%WW

19
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38.

39.

Which of the following statements
is not correct about the energy

sources ?

(A) Energy plays a vital role in the
Socio-economic development

and human welfare of a country

(B) Energy sources are also
renewable as well as non-

renewable

(C) Renewable energy resources
include firewood, solar energy,

wind energy, water energy

(D) Non-renewable energy resources
include coal, oil, natural gas,
geothermal energy and nuclear

power

According to Weber, if the Material
Index (MI) is 1, then the industry
should be located near the ........... .

(A) Raw material
(B) Market

(C) Between raw material source

and market

(D) Anywhere

38.

39.

MAR - 36223/1I—B

EATeTUeh ] SsTl Qi SeTdiel shIord faem
TR AR ?
(A) <Ml HHISToR—3Teeh & |r=el

HEATT el Hgwaqul YfHehl IR

qred
Tl A T JIHAeRE 9 a6l

STYAASTRIUN 3TTed

(B)

(C) GAelehufid Ssll METEId Sag

RS, TR Sell, AR 3 F ST Sl
I HAEET Bl

TP UIT ol ATEAEII SITE]
Fieql, Wi dd, F9iE 9y,
Jefifsorr et sfor o7o) it AN
HHEE Bl

(D)

JeR FeAMd o] FowmeR 1 e

(A) FHeaTHA
(B) &SR
(C) F=aMHd Fid A ARSI

(D) hISEl

20
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40. Which of the following country in | 40, wrcfiais] e A Talfas
South Asia is most urbanised ? IR0 STeiell <91 il ?
(A) Pakistan (A) W
(B) India (B) I
(C) Bangladesh (C) RSt
41. Assertion (A) : Countries based on 41. Taem (A) ; Ty enfifes iR enenfi
dissimilar religious formations world - . -
ﬁ"ﬂ UehHep[Al AlHIeXH  onU4ldl A4
eventually confront each other in
situations of war in attempt to SR =T RFEdie FHR .
bjugat h other. .
subjugate cach other HRUT (R) : gHTce ¥ QH=IG:
Reason (R) : Theocratic countries .
: : YHIIGHMEY TddTd.
generally get involved in crusader.
Which of the following is correct ? T HIOM TSR AR ?
Codes : HaAarE -
(A) Both (A) and (R) are true and
i i (A) (A) 3T (R) TFEIE! SRIeR 3T ST
(R) is the correct explanation
of (A) (R) ¥ (A) = 3T fowemmr oM
(B) Both (A) and (R) are true and (B) (A) 37T (R) St aIsR 3T a7ifon
(R) is not the correct explanation
of (A) (R) ® (A) = 19 faveroor =l
(C) (A) is true and (R) is false (C) (A) TR 38 WG (R) © TH
(D) (A) is false and (R) is true D) (A) TF q_{@ (R) ¥ s0eR a2
21 [P.T.O.



42. Assertion (A) : India is a multi-

43.

religions and multi-ethnic society.

Reason (R) : The constitution of
to all

individually and collectively,

India offers citizens,

fundamental rights without

discrimination on ground of religion,
race, caste, sex or place of birth.

Which of the following is correct ?
Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation
of (A)

(B) Both (A) and (R) are true but

(R) is not the correct explanation
of (A)

©)
(D) (A) is false but (R) is true
Which one of the following is odd

pair ?

(A) is true but (R) is false

Religions Dominant

Countres

(A) Buddhism — Thailand
(B) Hinduism — Nepal

(C) Shia Muslims — Bahrain
(D) Sunni Muslims — Iraq

MAR - 36223/1I—B

42. Tqam™ (A) : IRA & Sg-4HE 9 dg-ameh

43.

TS 2R,

IO (R) : YA G, 9 ArTient
SaferreRien smftr Arfenien o+, 3w,
Sra, fanm fear S wuEEdd

PSR JAYT TR T8 .

IR RN ST R ?

Tehdlieh :

(A) (A) @for (R) <Gl s e
(R) % (A) = 3T/g& fowcrmm TR

(B) (A) 71 (R) SI=IET sIe” 3% 901
(R) T (A) 3 319 foawersmn =&

(C) (A) TR WG (R) T I 3
D) (A) I% WJ (R) T s 3T
WATAUh! hIvEI Sel 4y el ?

e q&T a9
(A) ™ B REES
(B) &g — e
(C) fern gfeem —  w{H
(D) g gfem — T
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44. Match the terms List-I with their

meaning List-1I selecting the correct

answer from the given codes.
List I

(@) Enculturation

(b) Ethnocentrism

(¢) Cultural relativism

(d) Acculturation
List II

(z) Viewing ones culture as best

(z1) Principle that all cultures must

be understood
(zii) Process of learning culture

(iv) Assimilation to different culture

mainly dominating culture
Codes :
(@ B (© (@

A @ @) @) (o)

B) @) @ @) ()
(C) @) G @ @)
M @ @ @@

(i)

MAR - 36223/I11—B

44, IEt-1 07 IET-I1 A& HohoUal =

g fedean omRed. @it feaen

HehdiehMYA 3Teh Jaa fergd Ik <.
RICUN |
(@) TorHEHA TgT
(b) IR SeSATR
(¢) WEhfdes GUEER
(d) TEhdI-FeRH
ardt 11
() o HEhd Faian oS 3T ueul
(i) Td LR FHS B0 AR Y
S AGICRIE
(iif) T&Rdr forRvar=n ufehan
Gv) fafae dehdl gmeam geEeEmR!
LR WA THTI HI0)
Hehdich :
(@ ®) @ @)

A @ @) @) (o)

B) @) @O @ ()
(C) @) Gv) @) @)
D @ @

(v) (@)

23
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45.

46.

47.

48.

Mackinder called which of the
following as “World Island” ?

(A)
(B)
(&)

Australia and New Zealand
Europe, Asia and Africa

North America and South

America

(D) Japan, Philippines and
Indonesia

According to Arnold Toynbee, which

is not a major cultural realm ?
(A) Occidental

(B) Islamic

(C) South-East Asian Realm

(D) East Indian Realm
Eventually, the “Varna” divisions
ramified in “Jati” divisions in
accordance with which process of

diversification ?

(A) Economic

(B) Social

(C) Political

(D) Historical

The Mon-Khmer language speakers

are confined to :

(A) Arunachal Pradesh
(B) Jharkhand

(C) Jammu and Kashmir

(D) Meghalaya

45.

46.

47.

48.

MAR - 36223/1I—B

HfeheX A YEadeh! wemen ‘Sg’
TRUA Hed 3 ?

(&) stefe sfor gftere

(B) I0d, fyrn efor eAitheht

(C) SR STANGRT 30T Tfequr AR
(D) S, freluE=a onfor My

ATee I |, TTeATeTdeh! shivd
TgTaTe Aihiqse URHges ARl ?

(A) afeed

(B) s&ATH®

(C) Mg A uREes

(D) 98 9RdE ufies

‘gut’ farTHEN o fafagden g
FTER Sl faurmaed sTagesrye 91e
et ?

(A) TfeR

(B) wmHIfSteh

(C) TSThIA

) RUGHIEED

HE-TAT T S0 STSeR ShioTe
TRV HAifed STRd ?

(A) U= U_Y
(B) IREE

(C) S 3AIfu1 hIeHIT
(D) e

24
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49. Cultural geography had its origins | 49. HI&Hfd® YITAT=AT STHTHES HI0Td
with which American geographer TR Q_Llnq,m 3 B9 g ST
who emphasized direct field 3 : R SN S
observation of cultural responses to N P . “
the environment as imprinted on the yerer &t fitemn FE Jee 2
landscape : (A) T GRER
(A) Carl Sauer (B) 2w S
(B) David Sopher
(C) Edward Soja (C) TEae W
(D) William Norton (D) foezm 1éq

50. Social evolution of language is | 50. 218 Teal A ST GO=HT GrE1STH
believed to have arisen with the ST Fh%“ﬁi‘;’ AT SE Al SR
discovery of the art of ...........

. (A) 2l
(A) Agriculture .
(B) Music (B) %
(C) Food-making (C) STA-TR FHT
(D) Writing (D) e

51. Assertion (A) : With reference to | 51. faam (A) : qﬂa_aq;q"[ HIYr=1 9euiq
man-land relationship, Plato I AT foARERR TSie 7 TR,
considered man as a destructive
agent. &RUT (R) : 93X o= 7 erwes=
Reason (R) : The consideration was freronaR. enenfa g
based on empirical observation. ErfeE FIOW S I 2
Which one of the following is correct ? .

Codes : Hehdiah
(A) Both (A) and (R) are true and (A) (A) 3707 (R) SFarEr SRIsK ATed AT
(R) is the correct explanation
of (A) P R) ® (A) 3 =g faverom a7
(B) Both (A) and (R) are true and (B) (A) 37T (R) SI=IEl sRIeR 377
(R) is not the correct explanation ;
of (A) P WG (R) B (A) = 31 fagersn -l
(C) (A) is true but (R) is false (C) (A) s ® WY (R) § TF 37
(D) (A) is false but (R) is true (D) (A) I R g (R) SR T
25 [P.T.O.



52.

53.

Geography defined as ‘human
ecology’ is implied in which of the

following statements ?

(A)

Study of human impact on

environment

(B)

Study of environmental impact

on human beings

(C) Functional analysis and
consideration of regions as

complex organisms

(D) Inclusion of bio-geographic

principles to human geography

Select the correct option for the

statement given below :

George Gerland’s programme to
develop geography as a scientific

discipline is important because :

(A) it was with regard to the
historical development of the
discipline

(B) it was based on the then

concept of science and purely

logical considerations

()

it formulated the correct

perspective of the discipline

(D) it remained a standard frame of

the discipline for same time

52.

53.
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Al aRfeerdient ' STei e g

EiTeTUeh! ShIOTeHT ek IReTfod gid 2

(A) TITEOMER HIEET F9ETET ATl

RIS

(B) IR UG HFAER STl
SRR IS

(C) iR faeets o AT Jese Sea
Sitel UA fa=R

(D) A& e Sia- e awer
ESEICK

et feaen wataiiet sTgw faem

fere.

YA Tk S I o[ o

AR HRU

(A) @ wEre et faenmare
RECICIG

(B) 0 fammrean HeheuAmaR for qofgo

foramer aenfid 2

~C
dllencn

(C) T T Ard gieshe TaR shall

(D) § FE FB I HHEG ke

qeed gt
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54. List of authors (List-I) and the books

they work (List-II) are given below.

MAR - 36223/I11—B

54. IEI-1 9L oEeh A0 AEl-11 A3 =t

fefectean qxae™ 19 @reft ot o,
AS-1 enfor AEt-11 Aefet Sireen Sfesa

Match the List I and List II and T AT e TR T S
select the correct answer from the aer
codes given below : o 1

List I (@) STHRIEI-AM-gaee
(@) Alexander Von Humboldt b) 2
(b) Verenious © -
[ 0 e

u u

List II -qja I
(i) Critique of Pure Reason @  Twers ?TCF) IR T
(i1) Histoire Naturelle i) Tewrlt ekt
(iii) Geographia Generalis (@r2) ﬁw S
(tv) Kosmos @) TEHE
Codes : Hehdiah

@ ®) © @ (@ ®) (@ (@

A @ G Gi) Go) A @ @@ @) ()
B) @ @ Gv) @) B) @G) @ @) G)
(C) G@v) Gu) @& G C) Gv) G@i) @ @)
D) @) @ @) () D) @) @O @ @)

55. Which discipline provided the | 55. ®HIUrcdl @ JrtarHeler e
theoretical base for the Behavioural TS TS Tgifaeh YR WS hell ?
movement in geography ? (A) TSRS
(A) Anthropology B) s
(B) Economics
(C) Physics (C) sfaerme
(D) Psychology (D) AFHITE
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56.

57.

58.

Whose work is considered to have
seminal influence on the concept of
“Mental Map or Geographies of the
Mind” ?

(A) Peter Gould
(B) R.M. Downs
(C) D. Stea

(D) T. F. Saarinen

Who stated that “Geography is
to the of

interconnections among phenomena

related study

of diverse origins existing together
in harmonious relationship in
particular segments (places/regions)
of the Earth surface”.

(A) Malte-Brun

(B) Humboldt

(C) Ritter

(D) Hartshorne

Who stressed on the study of

inherited traits/cultural borrowings
in understanding means adjustment

to nature ?

(A) Alfred Hettner

(B) Ferdinand Von Richthofen
(C) Halford J. Mackinder

(D) Vidal de la Blache

56.

57.

58.

MAR - 36223/1I—B

IV hTH  HATR A TehT9l fohal A3

AT Geheqdral gAYd JHTE
FHA HHAA S ?

(A) fazx Ties
(B) #R. TH. T4
(C) I s
(D) 3. Th. GEH

FHIVT Y e i ‘A geateAn
JeeuNTr= fafymse amma (TUe/9een)

[N

GHTA HauW Thira fafg
A TR HART=AT ST
Hefed TR ?

(A) #ee 3

(B) ®ellee

(C) f=x

(D) e

SR FERTTERIER. AU FHES SHSH
U SRR onen fRar diERfaeh

o IqIA

ST ST TEeR. SR feen 2
(A) IThHE BT

(B) wfeate w7 fdres

(C) TaA®E . Hihel

(D) fES@-SI-a1 =™

28



59.

60.

61.

Which classification groups
individual phenomenon is to
separate classes on the basis of
morphological similarities and the
processes of origin ?

(A) Random

(B) Physical

(C) Logical

(D) Intuitive

Which procedure Aristotle favoured
in the formulation of concepts as
generalizations ?

(A) Deductive
(B) Geometrical
(C) Inductive
(D) Mathematical

Two statements are given below, one
is labelled as Assertion (A) and
another labelled as Reason (R).
Assertion (A) : The spectral
reflectance of forest cover is high for
near infrared.

Reason (R) : The healthy plants
have higher chlorophyll content.

Select the correct answer from the
codes given below :

Codes :

59.

60.

61.

MAR - 36223/I11—B

SRS qAEA T g3 Ufshar=A
SMYNTER Td3 H2ATa faved e shIoren
TRLOMHES Thed Sdd 2

(A) Fgfoseh
(B) WThideh
(C) dfeheh

(D) SR

TR GaEERUa= aheUd dar
HLOITETS! I FishIa e e ?

(A) TS

(B) ifufaen

(C) ATHFSHA

(D) Tfordr=

Qe S g foelt 3TRd. i Ueh
faum (A) o o9 g SR (R) 3T
faam (A) : 5@ S et
qTedehdl TSioh = STaeRd Teelld ST
3T

SHRUT (R) : ¥ Ieqced sRagear
YHT S 3T,

(A) ®e (A) 3T9F 378 g (R) € I%
3

(A) Only (A) is true but (R) is false .
(B) Only (R) is true but (A) is false (B) ;"1"_; (R) ST 38 WY (A) ¥ FF
(C) Both (A) and (R) are true and
(R) is the correct explanation (C) =T (A) 9 (R) 3T 3Ted 3Tfur
of (A) (R) & (A) ¥ A7 TEF AR
(D) Both (A) and (R) are true but
(R) is not the correct (D) 3= (A) 9 (R) 31 3Tzd 901 (R)
explanation of (A) T (A) ¥ T TR AR
29 [P.T.O.



62.

63.

64.

65.

Which one of the following is also
known as ‘Cross profile” ?

(A) Longitudinal profile
(B) Transverse profile
(C) Serial profile

(D) Superimposed profile

The study for irrigation coverage and
its impact on production is best
analysed by :

(A) Index number

(B) Regression analysis
(C) Factor analysis

(D) Cluster analysis

In which of the following basin
parameter, the basin length is
squared ?

(A) Circularity ratio
(B) Elongation ratio
(C) Slope factor
(D) Form factor

When the researcher is part of the
group under investigation, it is
known as :

(A) Basic research
(B) Elementary research
(C) Participatory research

(D) Primary research

62.

63.

64.

65.
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TTeATTUsh! heME ‘h1e 19 301’ Hareral
S ?

(A) ST dTed o

(B) etredt dwe oM

(C) v 9w o0

(D) eI dreed o0

fie foR & e SeTEATeR B0 HeTd
AT ST Schte fageroT I 8 ¢
(A) S T

(B) MM sHfaww

(C) e fAferdtd

(D) TR AfEd

ETeiTeTdeh! HIveAl AGI-T qiRHTor
FIEAH TRI-TFATA Ter=l a7 shall
S ?

(A) T oI

(B) @l Ui

(C) 3R ¥eh

(D) 3R ®Zh

ST WY & FRIeTvmaTeier e 9
AT 1 GINYAE 3 WU

(A) TAYd HNEA

(B) STRfweh weled
(C) wBurfl wHeled
(D) Wt aeied
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66. The method of collecting data 66. 2T HhaATeAl HifEh-fss IR
through oral-verbal stimuli is Tgad 319 WU
known as : (A) Frda
(A) Observation
(B) Heirerd
(B) Interviews
. : (C) et
(C) Questionnaire
(D) Schedule (D) Tfiferse
67. The representation of large | 67. 3If¥e fovaEFd S MReW =
population by small set of AT Hig T Hfaffe sivard
observation data with good degree E A
of reliability is known as :
(A) wA
(A) Population
(B) wafqs <1
(B) Primary data
(C) Sample (C) g
(D) Secondary data (D) fadte a1
68. Which of the following will have | 68. elieTiesh! HIMAE TORT = [ea =
mean = median = mode ? gAh T ?
(A) Binomial distribution (A) fgue &
(B) Poisson distribution (B) digE s
(C) Normal distribution (C) JEMM S
(D) Exponential distribution (D) Slehd s
31 [P.T.O.



69. Select the correct sequence for

different stages of passive remote

sensing process.

(A)

(B)

(&)

(D)

Energy  propagation —
Atmospheric interaction —
Surface interaction — Recording
by detectors — Processing —

Application

Surface interaction — Energy
propagation — Atmospheric
interaction — Recording by
detectors — Application —

Processing

Energy propagation — Surface
interaction — Atmospheric
interaction — Recording by
detectors — Application —»

Processing

Energy propagation — Surface
interaction — Atmospheric
interaction — Recording by
detectors —» Processing —

Application

MAR - 36223/1I—B

69. WIelicieh! 3Afshd YR TAGH Wisherean

T SeR Y fEer

(A)

(B)

(&)

(D)

Sl YEL —> STATEONATA ATaisha

—> T3 SR — TR

e - TR — SYASH

TR SRR — ol TR —

FrarEReTdd ATaXwAT >
YRR Aif — ST
TR

Fell YR — T SRR
FrarEReTdd ATaXfRAT >
sfeTIsRad Al — TS
TR

el T > T%ﬁ'&l S INHEDR
FrarEReTdd ATaXfRAT >

AfYATRad i — GEho
EEDISE
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70.

71.

Read the statements given below

and select the correct option :

(@)

Raster data has complex data

structure than vector data

(b)

Raster data is compatible with

remote sensing images

Raster data is efficient for

(c)

network analysis
Codes :
(A) Only (a) is true
(B) Only (b) is true
(C) Only (c¢) is true
(D) All the statements are true
Which of the following statements

are true about Western Syntaxial
Bend ?

(1)
(2)
3)
(4)
Codes :

(A) (1), (2) and (3)

(B) (1), (2) and (4)

(C) (1), (3) and (4)

(D) (1), (2), (3) and (4)

It occurs near Nanga Parbat
It forms a great knee-bend
Indus River cuts a deep gorge

It’s ranges extend upto Pamirs

70.

71.
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et fearer faum s enfor 9rg =i
aer

(@) T ST GLEAT gl S2muel
frgse a

(b) TR 22 B GG Hola Hfahd GEad
e

() TR B Vo fovarvong swEem
T4

Hehdich :

(A) FH (@) TR TR
(B) % (b) SRR T8
(C) ®F (¢) SRR 3"
(D) ¥d faum ¥R smea
faum stegw oM ?

(1) = 9oid Sees d 3Teesd

(2) T I Tt JT @EI[ I

(3) oY TH ©ie wesg fHi0T sheft 38
(4) TN [ AT IHR T ST
Hehdich :

(A) (1), (2) 37T (3)

(B) (1), (2) or (4)
(C) (1), (8) 3mfur (4)
D) (1), (2), (3) =0T (4)

33

[P.T.O.



72.

73.

Which one of the following has
‘BWH’ type of climate ?

(A) Thar desert

(B) Ganga Plains

(C) Deccan Peninsula
(D) Leh and Ladhak

Consider the following statements

related to the climate of India.

(1) Comprises a wide range of
weather conditions across a vast
geographic scale and varied
topography making

generalisations difficult.

2)

Hosts six major climatic sub-
types, ranging from arid desert
in the west, alpine tundra in the
north and rainforests in the

south west.

Which of the above statements is/

are correct ?

Code :

(A) Only (1)

(B) Only (2)

(C) Both (1) and (2)
(D) Neither (1) nor (2)

72.

73.
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ETeAerisht v ‘BWH’ Tehie e

e ?

(A) o= FTBae

(B) T T_M

(C) TEE=l glshey

(D) <& o derE

HRAT=AT BATHMATCTORT ElTeiet faer e

21

(1) sriferes faearr ywror sufor fafay
T TEUNGS STl dfaeayut

BATTETE HTHT=IRI0T Shi0l Sha[U]

94

Id TAHME &I el IUYHN,

IfyaHRelel Yeh deede] SR
SCRHEA TS 281 Yol 0T

S A

2)

TRASEA Fufaq fadd 2
LAY 10T FAem(T) s 3TR(q) ?
Hehdich :

(A) K (1)

(B) ™ (2)

(C) (1) =ufor (2) gl
D) (1) 9 (2) <= RN
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74.

75.

At which level eastern Jet streams
blows in the North India ?

(A) 150 mb
(B) 200 mb
(C) 250 mb
(D) 300 mb
Which of the following statement(s)

is/are true about cryosphere studies

in Himalayas ?

(1) To study the biogeochemical
aspects of Himalayan ice and
compare it with the polar

environment

(2) To study the dynamics and the
rate of change in glaciers to
understand its impact on

hydrology, ecology and climate

(3) Wadia institute of Himalayan
geology, Dehradun is one of the

participant institution

(4) The total budget requirement
for the study is Rs. 100 crores

Code :

(A) (1), (2) and (3)
(B) (1), (2) and (4)
(C) (1) and (2) only
(D) (1) and (4) only

MAR - 36223/I11—B

74. 3R WA Yo I SiE FaTg RV Tdesd
A 2
(A) 150 mb
(B) 200 mb
(C) 250 mb
(D) 300 mb
75. fenreramdiel fedmeRor swamy wewid
TTATAdH! HId faeam () Tg9F
() ?
(1) fereErde feamn S et
CRIAIT ST Hed =] el
PeiciERIctEINilC T

(2) ferc=n Tfdesl 9 ST <=

AT FEA ATAT TATVME,
RIS 9 amE AR B0
R HHSTEA B0

(3) afean ferTerem Jeme Tea, SaTey,
g Th WEWNl we e

(4) a1 AFHEE AR T 100 D
TR Ao T STATIRAT TR

‘Ff@ﬂﬁﬁ s
(A) (1), (2) 3mfur (3)

(B) (1), (2) 3Tfir (4)
(C) (1) =7t (2)
(D) (1) =7 (4)

35 [P.T.O.



76. Which of the following is correctly

77.

matched ?

(@)
)
(c)
(d)

(1
2)
3)
(4)

List-I

(State)
Chhattisgarh
Jharkhand
Madhya Pradesh
Odisha

List-II
(Major Coal fields)
Talcher
Giridih
Korba

Singrauli

Codes :

(A) (a) and (b) only
(B) (b) only

(C) (b) and (c) only
D) (a), (b), (c) and (d)

India’s first National Centre for
Marine Bio-diversity (NCMB) is

located at :

(A) New Mangalore

(B) Bhavnagar
(C) Chennai

(D) Jamnagar

76.

77.
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T TeTdeh! IO A STl 3TRd 2
et 1
(I=9)
(@) BETS
(b) T
(c) HEAYRY
(d) eufE

(1) dref=R

2) frer

(3) hILe

(4) Temeh

Hehdlah :

(A) (@) i1 (b) e

(B) (b)

(C) (b) AW (¢) Terd

D) (a), (b), (c) A (d)
TRATdIS 9ed 9l Si9-fafasan s
#% (NCMB) &S ¥1fiq ae ?
(A) g HTR

(B) "R

(C) ¥

(D) STHTR
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78. Assertion (A) : Sex Ratio of 1,000

79.

implies complete parity between the

two sexes.

Reasoning (R) : Ratio’s above
1,000 indicate excess of females over
males; those below 1000 indicate a

deficit of females.
Codes :

(A) Both (A) and (R) are true and

(R) is correct explanation of (A)

(B) Both (A) and (R) are true but
(R) does not explain (A)

(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

In a slanting hilly Indian terrain
experiencing more than 200 cm of
rainfall, which one of the following

crops can be cultivated best ?
(A) Jute

(B) Cotton

(C) Tobacco

(D) Tea

MAR - 36223/I11—B

78. fagm (A) : <9 fy= famdia gama

79.

& T y=mr 1000 7 gEeet W

oT (R) : 1000 == U THTOT
JeTeT FeraTe HIT SR eie, € JET
1000 Q& HH I o= gHw

HH ST
i

(A) T8 (A) 9 (R) 315k 3{H (R)
(A) T IJrg WL B

(B) T=T(A) T (R) 379 3Ted g (R)
T (A) T TTH TR AR

(C) (A) o9 38 WJ (R) § I% 3T
(D) (A) 9= % W (R) T TgH 3T

TRATAT YA He AR ohedl, S

200 9. Ve SR USI Ued, ST
fomRToft ErefieTdent ShivTd dieh ANTee Ee!
A R ?

A)

(B) HTqH

(C) darg

(D) ==t
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80.

81.

HINDALCO, an aluminium factory
located at Renukoot owes its site

basically to :

(A) Proximity of raw materials
(B) Abundant supply of power
(C) Efficient transport network
(D) Proximity to the market
What are the evidences given by

Alfred Wegener in favour of

Continental Drift theory ?
(1) Zig-Saw fit of continents
(2) Trans-current faults
(3) Fossils in different areas
(4) Convection in mantle
(A) (1) and (3)
(B) (1) and (4)
(C) (1), (2) and (3)

D) (1), (3) and (4)

80.

81.
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HINDALCO %I Sfegfafam el 3ehe
JY fod THvEE qAYyd RO

(A) T T Gii-ed

(B) Hocieh Sotal GLaal

(C) wria™ =R Jomel!

(D) SNRUSY 9if-1eg

e A TS 81 fagiaren Ieer

TR T FOR 2

(1) l{eh*-lchiq TIE THIR EE

(2) TE-FE U

(3) fa= 9rTda Sfard

(4) YEROAA AFYEI0T

(A) (1) 3Tfur (3)
(B) (1) 3T (4)
(C) (1), (2) =T (3)

D) (1), (3) Ao (4)
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82. Assertion (A) : Laterites have low | g9 fyerg A) : s =R giterar e
fertility. T
Reason (R) : High rainfall helps R
. . . RUT (R) : ST UEHHS SIS
in leaching out of minerals.
fee™ (Leaching) B O ST ST0aTH
Which one of the following is
T B
correct ?
(A) Both (A) and (R) are true and T 0 Se e 2
(R) is the correct explanation (A) T (A) T (R) 2% 3187 (R) ®
of (A) (A) = I9ra T B
(B) Bot%l (A) and (R) are true lc.)ut B) 3 (A) 3 (R) T T (R)
(R) is not the correct explanation R .
of (A) T (A) 9 T TR AR
(C) (A) is true but (R) is false (C) (A) 379F T Y (R) ¥ IF e
(D) (A) is false but (R) is true D) (A) I R R (R) & TEH M
83. A river in mature stage is likely to: | 83. Trereeddial T4 S
(1) Deepen its valley (1) 9@ g0 &
(2) Make a delta (2) FIYS o9 TR H
(3) Make ox-bow Lakes (3) el FUeR TR HLd
(4) Make a floodplain 4) T Y TR FQ
(A) (1) and (4) (A) (1) 37T (4)
(B) (2) and (4) (B) (2) aqTfoT (4)
(C) (2) and (3) (C) (2) 3:|-|-ﬁj-[ (3)
(D) (3) and (4) D) (3) \3:|TFUT (4)
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84.

85.

In the tropical regions

process is not observed except high
Alpine conditions.

(A) Freeze and Thaw
(B) Chelation

(C) Granular Weathering
(D) Oxidation

Match the List-I and List-II and
select the correct answer from the
codes given below :

List I
(@) Glaciers
(b) Coasts
(¢) River
(d) Karst

List II
(1) Castle Kopjes
(2) Chute
(3) Crevasse
(4) Cusps
Codes :

(@ b)) @ ()
A & 1 @ @
B) @ G @O @
< & @ @ @
O @ 2 @O O

85.
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(B) U9 (Chelation)
(C) HUMGR 379
(D) oSt

-1 & ASH-IT A= ST Sjesad @it
HehaeiE arg e Haer

EICU |
(@) fedme
®) "q5 fHR
(¢) &I
(d) TFESHE Y¥
It 11
(1) *¥aA HITS
(2) Fe
(8) fermeidie &
(4) =
Hehdlah :
(@ ®) @ @
Aa 3 1 @ @
B) @ G @1 @
©c 3 @ @2 @
D) @ 2 QO O
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86. Since the atmospheric moisture | 86. & SERUME Sgal SHITHR HHI 2,
decreases with altitude, the condition it faferse S=hadia feafiddien uft hdd
becomes unfavourable for snow Refeerdt Frior 2. 219t FreahE B
formation at particular height. This
. . . ﬁaﬁwm .............. aﬁw.
is demarcated by an imaginary snow
line known as .......c......... . (A) TeAifemeR
(A) Hinosphere

(B) feruea
(B) Snow patch
. (C) fenmt Sroft
(C) Glacial trough
(D) Nunatak D) Tk

87. Which of the following pairs are | 87. WATeeh! ShIord Sirel At T e ?
correctly matched ? 1) FoTeE . defAy
(1) Granites : Batholiths .

(2) HTHIER : 9RYSS hh
(2) Marbles : Hogback ridges

(3) e : ¥H THeh
(3) Quartzites : Ridge crests

(4) HIAU Wk : FARTE TA
(4) Hard rocks : Monadnocks

(A) (1), (2), (3) T (4)
(A) (1), (2), (3) and (4)
(C) (2) and (4) (C) (2) =for (4)
D) (1), (2) and (3) D) (1), (2) 3o (3)
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88. Match the List-I and List-II and
select the correct answer from the

codes given below :
List I
(Theoretical Terms)

(@) Simultaneous upliftment and

erosion
(b) Erosion of a stable landmass
(¢) Morphometric analysis

(d) Pediplanation in semi-arid

regions
List II

(Proponents)

(1) W.M. Davis

@) L.C. King

(3) W. Penck

(4) A.N. Strahler

Codes :

(@ B © (@
A 3 O @ @
B @ @O @ O
© 3 @ @ @
D & @ @O @
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88. IRI-1 9 ARI-II Jr=A1 Sl Jeoad Teiiel
Hehdlehlqd arvg e e .

(@)

b)
(c)
(d)

(1)
2)
3)
(4)

It 1
(Fgifaes =)
THTAA B TSR Ied AT
Y&
feot gy ST
wientgar forgeioo

o

1Y TR TR TSI e

I |
(Teien)

Ty, . K
T U
T T e

- -
-
-

(A)
(B)
(&)

(D)

(@ @) (@© (@
@ O @ @
@ O @ O
@ @ @ @
@ @ @O @
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89.

Assertion (A) : Headward erosion

of stream leads to river capture.

Reason (R) : Elongation of a stream
in source region causes headward
erosion.

Which one of the following is
correct ?

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

89.
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faeam (A) : Tr=n RRgE sitsen aikom
/U el A9 g .

(A) 3= (A) 9 (R) 39+ 3H (R) ®
(A) 9 I TR B

(B) 3I=I(A) T (R) 3T 3Ted g (R)

(B) Both (A) and (R) are true and
(R) is not the correct explanation T (A T 3Tk TSR0 &I
of (A) '
(C) (A) is true but (R) is false (©) () 37w ST& Y (R) & 7 T8
D) (A) is false but (R) is true D) (A) TF e TG (R) T TIF T
90. Structurally, the Great Himalayas | 90. TX=HTcHehdH Jgd fgdrerg g ¢
AT€ oo, 3Ted.
(A) A par-autochthonous zone (A) Tha-TaEeafer Te9n
(B) An allochthonous zone (B) TIEAFT W9l
(C) A suture zone (C) =R (T wew
(D) An autochthonous zone D) W g9
91. The average surface air temperature | 91, gedie ge ga= TUEL ATIHH TR
of the Earth is about .................... o e T 3R
(A) 10°C (A) 10°C
(B) 15°C (B) 15°C
(C) 20°C (C) 20°C
(D) 25°C (D) 25°C
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92. Which of the following statements

93.

is false ?

(A) An airmass source region must

be an extensive area

(B) A region with highly irregular
topography forms the ideal

source region

(C) A region that has a surface
consisting of both water and

land does not form an ideal

source region

(D) An airmass source region must

be physically uniform

When surface temperatures in the
Pacific ocean are colder than

average it triggers ................... .
(A) El Nino
(B) Tornado
(C) La Nina

(D) Chinook winds

MAR - 36223/1I—B

92. Wrefiayeh! HIv faem g R ?

93.

(A) SR ¥ 9oy @ fowga wifsst

(B) 1@ wow 99 eifaym sifafaa
TIARY AT d A Fd ToW

I

(C) o/ YewT 99 geevrm S sftr
qoft et STHA A1 ST Wi TR

BI$ Tehd e

(D) aTIRM T YW B UThiaeh e

oo

QendHIA Hllest

SIS YR FEIRI S HR IS araw
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94. Pressure
latitudinal zones (List-II) are given.
Match List-I and List-II and select
the correct answer from the codes

given below :

(@) Polar high pressure belt

(b) Subpolar low pressure belt

List 1

belts

(List-I)

(¢) Subtropical high pressure belt

(d) Equatorial low pressure belt
List II

(1) 60° — 65° North and South

(2) 5° North — 5° South

(3) 85° — 90° North and South

(4) 25° — 35° North and South

Codes :

(@ B ©

@a 3 @ @ @

B O B @ @

© & O @ @

M 3 O @ @
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94. TA=AI T Ug (ARI-1) A1 SHerawita
faym (IE-11) fooa emea.

ARI-1 3 ARI-11 A= Siee Jeoad @it
HehdiehIqd ara wag faen

arar 1
(@) Yaa I=a T@T=l el

(b) SuYe™ wHH @1 Ugl

(¢) 3U-SWHfCTHT I=d TET UGl

(d) Tovaaaia ®H &= qel

RICi |

(1) 60° — 65° ITX 3o gfagor

(2) 5° ST — 5° i

(8) 85° — 90° I MU Tfequr

(4) 25° — 35° I MU <feqor

Hehdich :

(@ B © @
Aa @ @ @ @
B O B @ @
< & @O @ @
M & @O @ @
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95.

96.

97.

Assertion (A) : During night high-
frequency radio waves are not
transmitted over long distances.
Reason (R) : At night the base of
Ionosphere is at higher elevation
from the Earth’s surface.

Select your answer from the codes
given below :

(A) Both (A) and (R) are true and
(R) is proper explanation of (A)
Both (A) and (R) are true but
(R) is not the correct explanation
of (A)

(C) (A) is true but (R) is false
(D) (A) is false but (R) is true
Winds that blow at a constant speed
parallel to curved isobars are
called........ccoeevveennnnnee. .

(A) Geostrophic winds

(B) Jet winds

(C) Gradient winds

(D) Trade winds

Assertion (A) : On equinoxes, the
day and night are not equal over the
globe.

Reason (R) : On equinoxes, the
position of the earth with respect to
sun is such that neither pole is
inclined towards the Sun.

Select your answer from the codes
given below :

(A) Both (A) and (R) are true and
(R) is proper explanation of (A)
Both (A) and (R) are true but
(R) is not the correct explanation
of (A)

(A) is true but (R) is false
(A) is false but (R) is true

(B)

(B)

()
D)

95.

96.

97.
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faam™ (A) : = A8t S=F IRAR

Afedicred o fqUer IRfvd 8id .
SRRUT (R) : TEHHE GealT=A1 TSSHITIRA

AT STe=] 9T 81 39 Ser 3=1d

Tl 79l

@il HehdiehTuent Ay faeheq fHeret

(A) (A) g (R) Tl s@X 3Teq 7o
(R) ¥ (A) 9 I TILIRIU AR

(B) (A) ¥ (R) Il sisR 3Ted W (R)
T (A) 3 oTg% TRIH AT

(C) (A) T s 38 W (R) § T 318
D) (A) T I ¢ g (R) T IR 3T

S AR e T T TR X TR
e F\’:ﬂ:ﬂ .............. 31@ TZUTdId.

(A) YeTer anr

(B) ST ya1®

(C) eTadt ar

(D) =AU =R

faearm (A) : 9=t MR fasgfet faow

T T THTHEH 9.

HRUT (R) : fougfcamer gest= feord

qd FARS AT (Foheren) Tl

QTeATel TeharenTuent A foeheq faer -

(A) (A) 9 (R) S8l s TRd 3101
(R) B (A) ¥ a9 SISO T

(B) (A) ¥ (R) Tl sisR 3med W (R)
T (A) T ITgH TARIHI AR

(C) (A)? SR 378 g (R) € I 378
D) (A) T I ¢ g (R) T IR 3T
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98.

99.

100.

Cumulus stage is the first stage of
formation of :

(A) Tropical cyclone

(B) Extra-tropical cyclone
(C) Warm front

(D) Thunderstorm

About one half of the atmosphere is
below an altitude of

(A) 5.6
(B) 16.2
(C) 31.2
(D) 48.1

Which of the following statements

is not correct if the noon sun angle

on 22nd December on 23%%° S is 90°.

(A) The noon sun angle on 38° N

will be 2814°

(B)

The noon sun angle on 50° N

will be 1214°

(&)

The noon sun angle on 45° N

will be 2114°

(D)

The noon sun angle on 30° N

will be 361%°

99.

100.
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(A) Iourhfesefa afrerd

(B) dT&l SSThfeaetd 3Tmed
(C) 3w07 Ireret

(D) TETER! dRes

(A) 5.6
(B) 16.2
(C) 31.2
(D) 48.1
22 feder =nfeasft weareen 23%°
Tferoien SR EfeRTom=n & 90° S¥a

™ WeATAdh! g faem @ @l ?

TG 38° Saiel AT

HIT 2814° AHA

(A)

TR 50° Saiell FATRIom=

T 1214° A8

(B)

HEATEAT 45° Sekel YA

HF 21%4° FAHA

(&)

TEATRAT 30° Iael FhTum=

HF 3614° AU

(D)
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ROUGH WORK
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